Exam 3

Professor Leffler

Econ 200

Fall 2003

T/F explain.  Answer 13 of the 15 questions.  (Only 13 answers will be graded.)  

1. It is not profitable for Denny’s to sell me a senior breakfast for $2.99 when another patron at Denny’s would pay $3.99 for that same breakfast.

2. My amplified voice disturbed Johnny’s sleep in the back row of class last Thursday.  This is an example of an economic externality.
3. The minimum wage should be increased because every worker should be paid a fair wage.
4. A seller may be able to increase its profit by selling apples in three separate pre-bagged sizes rather than selling on a per pound basis.
5. A substantial switch in the federal budget to increase spending on environmental cleanup and reduce spending on defense is expected to lead to an increase in unemployment.

6. Collusion is more likely to be successful when sellers can easily learn what their competitors charge.

7. It is not consistent with the Law of Demand for an increase in the wage rate to reduce the supply of labor.

8. Since labor is the ultimate source of output, profits to the capitalist entrepreneurs represent exploitation of labor.

9. If may be efficient for employers to require a college degree even if the degree does not impact the worker’s marginal product.

10. A positive unemployment rate is both expected and desirable.

11. If bargaining were costless, the existence of externalities would not impede the efficiency of market based production and consumption decisions.

12. The value of a statistical life should be the same as the value a certain life since in either case a human life is taken.

13. Workers with facial tattoos earn only about half of what workers without facial tattoos earn.  This indicates discrimination against people with facial tattoos.

14. If sellers can agree to match each others’ prices, their demand curves will be more elastic.

15. The characteristics of jobs of that are economically of “comparable worth” are expected to change as the composition of the labor force and the demand for various goods change.  This demonstrates that there is no intrinsic comparable worth of job characteristics.
